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TRWIND (1) @% 5@%053334 LT BOTFRT @Zﬁ%ﬁ%&éﬁﬁ%ﬁ TOEBA0. o3e)T3e cﬁ.@éﬁéﬁ@%@q

B3eocse BB eDTTON SPR0.
(2) 2TCDL WP VFAT HFONL Ve VP TI), ToLODIZ, WFAD TR
BF NI, TWHL TILT WFRD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

TRUW ¢ BNZITOT BENYY T[T, VRO ) BNETTLNTTY, 2TOWO.

Note : Draw diagrams and write equations wherever necessary.

iR - I/ PART -1
2eus 1 () oy TJRIR, YOI0A. 30x1=30
(i) 3Ry Towy SORPNVOT B8 BRFDIT WITHR, SO HT) S0k, FOJ 0D,
T FOOIPT YLZTHR, LITOWO.
Note : (i) Answer all the questions.

(i) Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.
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1. a%@f%eeﬁafu QTOOT d@s:brira%%%d :

(a) U%O@ﬁe@: (b) Qﬁéﬁe@:

() Skder @Qonwd (d) RO deeEnd
Oxocations are formed by :

(a) Lanthanides (b) Actinides

(c) Noble gases (d) Alkali metals

2. OZARRNED, IHOIE BOINTBI), BROX
(@) K,S0,°Al, (SO4)54Al (OH), (b) K,S0, Al, (SO4)524A1 (OH),
()  K,SO, Al (SO,)54H,O (d) K,SO, Al (SO,)5-24H,0
Name the compound employed to arrest bleeding.
(@) K,;S0,°Al, (SO4)54Al (OH), (b) K,SO, Al, (SO4)524A1 (OH),
() K,SO, Al (SO,)54H,O (d) K,SO, Al (SO,)5-24H,0

3. OB TOTmowd 3 F0TN0T FOO FLONLRODN FOLORAT :

(a) 23¥3T &N (b) 23¥33 BBFOT

() WIS BRRRE (d) - 2PRES mﬁ?&é
The Tyndall’s effect associated with colloidal particles is due to :
(a) absorption of light (b) . reflection of light
(c)  scattering of light (d) presence of charge

4. NaCl g&%ﬁd@) 3e00% Na' ©03RT TR, WBBOLOII %@edéws 00T NE Sogﬁéofm :

(@) 6 b 8 (c) 4 (dy 12
The number of chloride ions that surrounds the central Na* ion in NaCl crystal is :
(@) 6 b 8 (c) 4 (dy 12

5. ©O0TTNNT HOBRTF WOTH) ABTY TSNS :
(@) O-J TS (b) mJPReRpTO
(©.  p-3nepmoe (d) Sz

The intramolecular hydrogen bonding is present in :

(@) o-nitrophenol (b) m-nitrophenol

(c)  p-nitrophenol (d) phenol
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BRTO TEF TBIONOD WTF BeRTOWHOIN 10 INTNKW. TomuT T3 T3
QT0IT)

(a) 6.93x10%> min~! (b) 0.693x10~2 min~!

() 6.93x10~2 min~! (d) 69.3x10~1 min—1

The half life period of a first order reaction is 10 minutes. Then its rate constant is :
(@) 6.93x10% min~! (b) 0.693x10~2 min~!

(c) 6.93x1072 min~! (d) 69.3x1071 min~1

C,H;OC, Hy a3y CH,-O-CH-CH, 003 IR0 miemosss :
I

CH,4
(a) 3XRI3 (b) ORI (c) m@@ (d) =oed
The isomerism exhibited by C, H; OC, Hs and CH;—~O~CH~-CH, is:
|
CH,
(a) functional (b) metamerism (c) position (d) chain

BeF QOBMNRY ONNYDY, SOIWOALY 03T Mg NFERBIT, YTRERENZETT 2
(@) 3% NT Seed B 0.1% Zr.

(b) 30% 0T SpeB T 1% Zr.

() 30% 0T Spex DB 0.1% Zr.

(d) 3% 0T° deex B 1% Zr.

Which Mg alloy is used in making parts of jet engines ?
(@) 3% Mish metal and 0.1% Zr.

(b) 30% Mish metal and 1% Zr.

(c) 30% Mish metal and 0.1% Zr.

(d) 3% Mish metal and 1% Zr.

zdeod mpwEe TITT FSew Tt T@O KCN FedATN 0IRsm  FOOINT)
SRTDRRWET ?

(@) Cu, (CN), (b) K, [Cu (CN)(]

(© K [Cu (CN),] (d) Cu, (CN),+(CN),

Which compound is formed when excess of KCN is added to an aqueous solution of
copper sulphate ?

(@) Cu, (CN), (b) K, [Cu (CN)(]

(c) K |[Cu (CN),] (d) Cu, (CN),+(CN),
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10.

11.

12.

13.
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3YNT 03T 2,00 TFOHOI FRMIBT T, LIRROBDIHOY ?
() =L ReTS

(b) B, TRTDRAWDE

() ©OTF To3RENA FRBOINE JedI 53@9@%6:@

(d) eRIT LTCIREN WIFT TORTH

Which one of the following processes does not involve coagulation ?
(a) Peptisation

(b) Formation of delta

(c) Purification of drinking water using alum

(d) Tanning of leather using tannin

FINIPNGY 0IPRYTH DOWRLLOD TPFTBY BOTT WeNIOY ?
(a) CREO0T WERFT FridesTo

(b) BT BBPROIVDS

() oMWW Jedrt WTIRDS

(d) FSRFOB BARRRDS

Which of the following does not result in an increase in entropy ?
(a) crystallisation of sucrose from solution

(b)  rusting of iron

(c) conversion of ice to water

(d) vapourisation of camphor

N, +3H, = 2NH; 9390030375 Q,” 83 TFodvwwow NH; o nox «aedmd
TBODLTI :

(@) BRD wIT DI T, TITIPD

(b) 3RD &IB DB FRD TTVTWI

() T wIB B TN TITIP

(d) %23% WBT W) é?ﬁ% TOTRIOT

In the equilibrium N, + 3H, = 2NH,, the maximum yield of NH; will be obtained with
the process having :

(@) low pressure and high temperature

(b) low pressure and low temperature

(c) high pressure and low temperature

(d) high pressure and high temperature

BRELETNY VIO BReT :

(@) o-TERY BT (b) a-oHIn s
(€ B-TBERY (d) B-uDIn v
The building block of proteins are :

(@) o - hydroxy acid (b) - amino acid

(c) B - hydroxy acid (d) B -amino acid
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14. BRSIBEICSIT® 30935 4 BDRODTV RBOBCLRE xoofmiéé VTOBTTHBOIN :

(@) K, [Fe (CN)¢] (b) [Co (en),] Cl,

() [Fe (HyO)] Cly (d) [Cu (NH,),] Cl,

An example of a complex compound having coordination number 4 :
(a) K, [Fe (CN)¢] (b)  [Co (en);] Cly

(c) [Fe (HyO)¢] Cly (d) [Cu (NH,),] Cl,

15. TBBR/SRTIY TopIReT QTBI), IR :

) 0® BeRETBY;

) TR mm—aas

) 20T BRIV mg 2,000 BRBRAYLITT
) TR BeINTWIT, BB 20w B FTWTT

Raffinose on hydrolysis gives :

3
(a
(b
(c
(d

(@) two monosaccharides

(b) three monosaccharides

() one disaccharide and one monosaccharide
(

d) two monosaccharides and one disaccharide

16. 85 BRIT, WTOIRENY TOTOTTVO TTWIVER 2IVWF Y, TOWRRODWIOWD

() Z'=S-Z (b) Z°=7+S (o0 z2=7"-5S d z'=7-5S
Effective nuclear charge can be calculated by using the formula :
(@) Z'=S-Z b) Z'=Z+S () Z=2"-S (d) z*=z-S

17.  Conc. HNO; &3 Conc. H,SO, <030t000n ©30ee” 3B, RIS
(a) sPer JEee vIRRCS
(b) oTe JEine BIRRCS
() wBRF WY T JEine BIZWES
(d) Do Jrine wIRRCS
With a mixture of Conc. HNO; and Conc. H,SO, Anisole gives :
(a) = ortho nitro anisole
(b) para nitro anisole
(c) ortho and para nitro anisole
(

d) meta nitro anisole
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18.

19.

20.

21.

22.
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odmzen SEiReNgea’s™, Zn/NH, Cl 20T 3R3ReeRebodne, SN Do) AT,

BRI :

(a) CH;NH, (b) C,H;NH,
(c) CH; NHOH (d) C, Hy COOH
When nitromethane is reduced with Zn/NH, Cl, we get :
(a) CH;NH, (b) C,H;NH,
(c) CH; NHOH (d) C, H; COOH

Pl, RR00r S1306" 1§ Boc0® HIBoho BB, SRBIT :
(@ ICH,~-CH,] () CH,=CH, () CH,=CHI

The reaction of ethylene glycol with P, gives :

(@) ICH,~CH, () CH,=CH, () CH,=CHI

@56396&3%366 RRTL NWTOSRENTT BOBSF 0 WOSH) :

(@) Cr (b) Ni () Zn
The transition element used for making calorimeters is:
(@ Cr (b) Ni () “Zn

cééé)ac;ﬂé@@ 3. uo@%mﬁa@% [UPAC I3 :

(@) 2-9B0-3-07e" wties”

(b) 2-(N-0g* wlRe)enied

(€  2-(N, N-Bngor wifoe) wties®

(d) 2N, N-Bogor olikn) Behes”

The IUPAC name of dimethyl sec. butylamine is :
(@) 2-amino-3-methyl butane

(b)  2-(N-methyl amino) butane

(c)  2-(N, N-dimethyl amino) butane

(d) 2-(N, N-dimethyl amino) propane

PHAT QoD PITONDT TID) -

(a) DBREROT R (b) R OF s
(€) TOTFEROFT = (d) R s
The liquid that deviates from Trouton’s rule is :

(a) Hydrochloric acid (b)  Sulphuric acid

(c) Phosphoric acid (d) Acetic acid

(d)

(d)

(d)

(d)

ICH=CHI

ICH=CHI

Cu
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FNIPNYY 03z BOo3NT) Cﬁe)rjwmﬁ@%mﬂ F3oDWND 2

(@) CH;CH, COOH () HOOC-CH,—-COOH
(c) CH; CH (OH) COOH (d) Cl, CHCOOH

Which of the following compound is optically active ?

(a) CH;CH, COOH () HOOC-CH,—-COOH
(c) CH,; CH (OH) COOH (d) Cl, CHCOOH

2H,0 g +2Clyp = 4 HCl ) + O,y 88 030RODTIFA

1
(a) K, =K, (b) Kp>K, () K <K, d X, = K_c
ZHZO(g) +2C12(g) =4 HCl(g) +02(g) for this equilibrium :

1
@ K =K (b) K>K ©  Ky<K, (d K, = K_c

VOIRTEY sp? FRBFFST TRINY.

(a) CO3 (®) soi (9 NO; (d NO;
sp? hybridisation is not present in ion.
(a) CO3” (b) o3 (© NOj3 (d NO;

PRFTRBE BRODGIT SN ST, IIIT :

(a) RTITIRF T AT (b) PTOB T
() FoFIT® (d) FRNFT B
Formaldehyde polymerises to give :

(a) paraformaldehyde (b) paraldehyde
(c) formalin (d) formic acid

03097 3OVE YLTRTTTHOI :
(a) SReET FOOTOE TIOTENTO (b) e08Q BT
(c) NoRLs® (d) Fe(OH); 39o©
An example for lyophilic colloid is :

(a) colloidal solutions of metal (b)  sulphur in water
(c) gelatin (d) Fe (OH); colloid

[ Turn over
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28.

29.

30.
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BBLBROT BT DT BRCRONO FOLIRFIEET IWNT LE3e8003, LOTOIRENTOB
[RITR) :

(a) FBRERRAODO TIWIONIELF (b) ReRTTO
() &eeer o (d) 0o 3emd

For the titration between hydrochloric acid and sodium carbonate, the indicator used
is:

(a) potassium permanganate (b)  phenolphthalein
(c) phenol red (d) methyl orange

@ﬁa@mf WOIS) mw0§w§ FOTT) :
(a) 3eRbeBe Tedd

(b) ROTHRTF TTBIDIT TR

() ROTRIT TTTIVEDNT w0 2,0T3¢ BReBOD @eﬂf@)&@mfs
(d) =OTHRITAS ©S TR mﬁ&@eéﬁwe‘bw

The basic character of amines is due to :

(a) tetrahedral structure

(b) presence of nitrogen atom

(c) lone pair of electrons on nitrogen atom
(

d) high electronegativity of nitrogen

U™ SRI0HT 200 SRLPFM, eI DI 5uxe'®, o™ DB x ©
&Wyéﬁﬁmg@gﬁ WA X DI ?

(@) 2 5@5@33597?%30 (b)y 3 mé@asﬂ%

() «-3 (d) B-3e

9 U2 nucleus absorbs a neutron and disintegrates into 54 Xel®?, 388r94 and x. What
will be the product x ?

(@) 2 neutrons (b) 3 neutrons

() a- particle (d) B - particle
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won — II/PART - 11

U1 () IR DAY AT, W0, 15x3=45

(i) TS YVTTY woTH VPO ATW WIRFYTLIER.

Note : (i) Answer any fifteen questions.

31.

32.

33.

34.

35.

36.

(i) Each answer should be in one or two sentences.

ﬁéf%vwﬁfrﬁ @Z’o%@é 3%553@1 DA

State Heisenberg’s uncertainty principle.

QOMPVT O3TPACFTED SEOIN WPCTIINOS ézsgﬁd. DT 9

Ionisation energy of Carbon is more than that of Boron. Why ?

goz&@e fx@ee;&o:b wﬁ\ @3%98 2230200,

Write a note on plumbo solvency.

HyP,0, 3 adms Be 3e3n, 8eA.

Draw the electron dot formula of H, P, O..

TOBIF T BN WILLBID, D TBIH ?

Why do transition elements form alloys ?

BReeT FeLSon® 207} B03T 363 ToWO.
el n @ o

-0

Write short note on chrome plating.

[ Turn over
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37. 39N IRIoDT TIOIR Q [PY, FOBLROWO.
13A17 + ,He* - 1,51+ (H'+ Q
13A1%7 R QDTIT Bwxr* 26.9815amu, ,He* A 4.0026 amu, 1,530 R 29.9738 amu
=3 H! R 1.0078 amu.

Calculate Q value of the following nuclear reaction.
13A127+ 2H€4 ad 14Si30+ 1Hl+ Q
The exact mass of 13 Al1%7 is 26.9815 amu, 1 45130 is 29.9738 amu, 21—194 is 4.0026 amu

and 1H1 is 1.0078 amu.

38. TRTT® OBINON OSTVTHTIVTBTIR R @%om%ﬁ@mgl Alefoveiol

Write any three applications of superconductors.

39. QOLRLL DOTTER ? VRYNY TLFRW(OINET) O3PBR)H) ?
What is entropy ? What are its units ?

40. O WRLODT'I IFHW, IPA.
State Le Chatelier’s principle.

41. DBee IP BEF BEZ0H Q0TI P 20T WTPTTH B0R.

What is a pseudo first order reaction ? Give an example.

42. ©TLHEIONT BNCFTLOB/R, WTOWO DB WPYNT LOTNTR, D@OR.

Write the Arrhenius equation and explain the terms.

43, ﬁa’ééﬁeeﬁv QROTTEZ ? 20T NTOTTH 3RR.

What is peptisation ? Give an example.

44, DOBTIIT BACITLOT LT magmmol 2)30%00.

Write three significances of Henderson equation.

45. @mzoéommq B BOIWRDCIRTT’, ITRT 0ITRR)TOTTR 0T BIVANTZ), 2BOWO.

Write any three differences between enantiomers and diastereomers.
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46. NMOEF TTFE SARLT[IOD, WOTIWIN YWTOSRENTIOIMPYNY. TTE TRA.

Alcohols cannot be used as a solvent for Grignard reagent. Give reason.

47. é&mm@&od aﬁoa%@f ejeif%ememol Dey Jert BoOREED ?

How will you prepare benzyl alcohol from toluene ?

48. CRCATIOFS TRZ(OWID') 2OTWIE 7 83 TSBOHONY BaSO, T, FeOAT wvT3e3
DI 2

What is Rosenmund’s reduction ? What is the purpose of adding BaSO, in this
reaction ?

49, @%mﬁ%waod @3&;393@@ ﬂémomcémol Tert TEoINESeD ?

How is methyl cyanide obtained from acetamide ?

50. rieRdoDe” TEENE AOPIAT Wi WIWO.
Write about Gabriel phthalimide synthesis.

51. coF (cééﬁf) NY SRPYTRTOL TRTY THERVTRNTR, 33

Give any three characteristics of dyes.

on — III/ PART - III

TRUWN © CIVFTIVTTR D @5@{1@5?}3& TS DLONOOT TAF ITR @5%71%‘333& 0% WTBOWO.
Note : Answer any seven questions choosing at least two questions from each section.
7x5=35

Syont — A | SECTION - A

52. WeQAT® WY WIFTT TOIRENTIZ, IO

Describe the Davisson and Germer experiment.

53. @aﬁ:—”o@%w 000T aﬁ@%oj)abol Ien wcéofmge@ 9

How is silver extracted from Argentite ore ?

54. ROBITE BDMHDIT TOFOTNYI), 2TOWO.

Write the consequences of lanthanide contraction.

[ Turn over



6686

55.

56.

57.

58.

59.

60.

61.

62.

63.
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DRRCFOFTI FTTOD THBY WOIPACFTTLOB/I), YVTITTFBOILONT DTOR.

Explain coordination and ionisation isomerism with suitable examples.
den - B [/ SECTION - B

e (W0) TRE G TOROFRND IRDD) ?

What are the characteristics of free energy, G ?

PCl; D5wdR K, @@ K, A o533 Ik,

Derive the expressions for K and K for decomposition of PCls.

BE3OD TEFOD MLOTELND BWR)I) ?

What are the characteristics of order of a reaction ?
0.01 M Cu?* to@e BR00%s Cu(zatl)/Cu(s) OHF AR Qw0.005°. +0.301V. o5«
S ;o—%ozscs% Q.00. . ?Del TOTIERCWO.

The e.m.f. of the half cell Cu(zaz) /Cuyg containing 0.01 M Cu?" solution is +0.301 V.
Calculate the standard e.m.f. of the half cell.
Qyon — C [ SECTION - C

©8ReHUT B OTWT HPONY SWDT 0IWR)TIVTITH 0T BIVANGI), WBOW0.

Give any five differences between aromatic and aliphatic ethers.

$9NS FeohIv, LHERD.

(i) 333 3R (i) ZF BEHOD
Write the following reactions :
(i Clemmenson reduction (i) Perkins reaction

SERLTIOBROON BRFS OF SNT HIOLITIN L.IRPORTLT WBIOLBIINT,
20BN,

Write the mechanism involved in the esterification of a carboxylic acid with alcohol.

9NRLIT R 03T £33 2030%00.
-0 ~ n [V ) )

Write short notes on anaesthetics.
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Note :
64. (a)
(b)
(a)
(b)
65. (a)
(b)
(a)
(b)
66. (a)
(b)
(a)
(b)
67. (a)
(b)
(a)
(b)
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won — IV/PART - IV

() 28 Tewy IJAIIY, GB0A. 4x10=40
(i) =B, "oWJ, 70 IEOPTNT W WIYT TJINVOT CBRPYTT =0T,
YUBOA.

(i) Answer four questions in all.

(i) Question number 70 is compulsory and answer any three from the remaining
questions.

WO3TRIT FRNTI), FORLRODLY TP DTITT/I), DB/OX.

ToRTRe-Toden” TIROT Bert [L” LAWY, TODLIOT TEEIRAPVRZTIO
QTWOA.

Explain Pauling method to determine ionic radii.

Describe how noble gases are isolated from air by Ramsay-Raleigh method.

BT, 10T ATYOBI, WoTOIRENY [Ni(CN),J>~ @Bodsniess® 0w e
Y [Ni(NH,),J*" mo00smiess sns.
BeRO3RTUF T TWeLOM ), DWOR.

Using Valence Bond theory prove that [Ni(CN),]?~ is diamagnetic, whereas
[Ni(NH,),]?* is paramagnetic.

Explain Radiocarbon dating.

mus @mﬁﬁﬁa@l NWOR.
EPET LeTDT I TOAPONIT LT IWIT BITVANKD IR ?

Describe the nature of glass.

What are the differences between physical adsorption and chemical adsorption.

LBTOT | FEOIT AODTB/R), DBWOX.
A 688 WRF [UPAC 37S8ITT NI, TH00DR.
Explain Ostwald’s dilution law.

Mention the IUPAC conventions for writing cell diagram.

[ Turn over
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R BRTTIC TREFTLONYI, (conformations) DT[OR. WIYNY %édéodaab‘i WVETVIR.
YN TOTSFIND Tert TOLNRTS ?

() =IRIT o - 0T

(i) IFOFT o — NPT WO Seer

(i) TOWFT BT — FTOTFET

Describe the conformations of cyclohexanol. Comment on their stability.

How are the following conversions carried out ?

(i)  Salicylic acid — aspirin

(i) Salicylic acid — methyl salicylate

(i) Formic acid — formamide

ST SHTROON TP, 20D T 30D WININW Tert TSHOWRTI ?
MREReTS TBIOND, ITTRR.

How do primary, secondary and tertiary amines react with nitrous acid ?

Elucidate the structure of glucose.

CoHgO©weds Rp3Rtha 2,000 8 FOoWT (A) odd 3uF FOF dedaldnodn
$eTY 09T, BRI, BOOINT (A) 00, CHC; 308y NaOH Snodrt 0egs
BRATN (B) @B (C) 2T@ DR NI, SRWIT. FooWT  (A) 0D,
0" IRFITY BOSTERLN P DRODN AedATRR HPOT (D) oI,
3R@ITB. (A), (B), (C) 303 (D) 0B, THTHS. TSFODRYI), LT[OR.

ROOINE (A) 20T 3¢ oI W BET TN 2,000 T YOITE D Qo
3R, FOOIWE (A) BRRACHO ERTHE I, I AT LT I 0F ST
B3 268 @AV (B)8hId. odmemen KOH, (A) 3000n ©3300R03Hmee, &
20 BYD R (C) oI, TRWIT.  (A), (B) DI (C) oD, ™SR,
BEBODNTR, DTOR.

Dlop)
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ROOINE (B) 3nR)TT weds g, C, Hy N&, SnCl, w3 HCIZpohrR s3N1T3
HBPOBROON IRSARPA O #NT FOOIT (A) 03PRPYTIT weds Beg C,H, O
BRI, FOOINT (A) ST, DNEowT), TRIMRYETT. 03N 20T T
conc. H, SO, ), Aod0g (A)R Fedamon Fgs Foodng (C) s Jedndx
BT, (A), (B) D) (C) 0D, TSR, TS30DNRYT, D[OR.

@503%& DWEORNPLIT AT B0 SOi_ S ©903799F 533303 189 ohm 1

cm? gm.equiv. 71 33 160 ohm ™! cm? gm.equiv.”L ©F0Z wrododhy
REERGEFNY S50 D) BRERT® IHTZONT), TR0 ROWO.

An organic compound (A) of molecular formula C, H, O, gives violet colour with
neutral ferric chloride. Compound (A) when refluxed with CHCl; and NaOH
gives two isomers (B) and (C). Compound (A) when added to diazomethane in
alkaline medium gives an ether (D). Identify (A), (B), (C) and (D). Explain the

reactions.

Compound (A) is an orange red crystal and also a powerful oxidising agent.
Compound (A) when treated with potassium chloride and concentrated sulphuric
acid evolves coloured gas (B). When KOH reacts with (A) an yellow solution of
(C) is obtained. Identify (A), (B) and (C). Explain the reactions.

OR

An organic compound (A) of molecular formula C, H, O is prepared by the
reduction of compound (B) of molecular formula C, H; N dissolved in ether, with
SnCl, and HCl. Compound (A) reduces Tollen’s reagent. When a drop of conc.
H, SO, is added to compound (A), it polymerises to give a cyclic compound (C).
Identify (A), (B) and (C). Explain the reactions.

Ionic conductance at infinite dilution of AI®t and SOi_ are 189 ohm—1 cm?

gm.equiv. ~ ! and 160 ohm ~! cm? gm.equiv. ~!. Calculate equivalent and molar

conductance of the electrolytes at infinite dilution.

-00o0-

6686



